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KS2 Arithmetic 

8547 
X  78 

 
 
 
 
 
 
 

7964 
X  69 

 

8589 + 7645 
       
                    

6301 - 2957 
 
 
 
 
 
 
 
 

7686 ÷ 9 
 

4672 ÷ 8 
 

7987 ÷ 7 
 
 
 
 
 
 
 
 

98.8 + 49.419 
 

80.9 - 63.41 
 

29 x 0 = 

74 x 1= 

   87+      = 124 

    79 -       = 53 

- 29 = 53 

92 + 82 = 

       72 - 52 = 

9875=9000+          + 75 

 

MMDCXIX= 
 

2712= 
 

36.2-15.45+23.12= 
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85% of 245= 48.8 x 100=   
29.4 ÷ 100=   
34.89 x10 =   
760 ÷ 10  =   
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9 + 27 ÷ 3 = 
0.5   38 = 
1248 ÷24= 

 

 

 

 

    

    

    


